	0.0567 × 0.437 
	

	5.67 × 4.37
	

	5.67 × 43.7
	

	5.67 × 0.437
	

	0.567 × 0.437
	

	567 × 4.37
	

	567 × 43.7
	

	567 × 437
	

	567 × 0.437
	

	0.567× 437
	

	437 × 0.567
	


Cut out the answers below and stick them into the correct spaces above. Don’t use a calculator or try to work them out; all you need to know is 56.7 × 4.37 = 247.779. You can do the rest using what you know about place value!

247.779

0.0247779

247.779

24.7779

247.779

247.779

247779

2.47779

24777.9

0.247779

2477.79
